Boyle’s Law

1. Correct the volume of 259 cm3 of oxygen gas at 112 kPa to the volume at 101.3 kPa.

2. The volume of CO2 gas at 99.3 kPa was measured at 455 cm3.  What will be the volume if the pressure is adjusted to 202.6 kPa?

3. As the volume of a gas is changed from 62.4 cm3 to 47.3 cm3, the pressure increases.  The original pressure was 117 kPa.  What is the final pressure after the volume change?

4. If 74.5 m3 of oxygen are collected at a pressure of 98.0 kPa, what volume will the gas occupy if the pressure is changed to 90.4?

Dalton’s Law – the following gas volumes were collected over water under the conditions indicated.  Correct each volume to the volume that the dry gas would occupy at standard pressure and the indicated temperature (T is constant).  Use the table supplied in class.

1. 757 cm3 at 21.00C and 87.3 kPa

2. 43.4 cm3 at 70.00C and 121 kPa

3. 84.2 cm3 at 29.00C and 101.3 kPa

4. 2.38 m3 at 50.00C and 90.3 kPa

Charles’s Law – Correct the following volumes of gases for a change from the temperature indicated to standard temperature. (P is constant.)

1. 907 cm3 at 190C

2. 3.44 m3 at 370C

3. 50.2 cm3 at –530C

4. 76.1 cm3 at 1670C

Correct the following volumes of gases for the temperature changes indicated (P is constant.)

1. 6.67 m3 at 100C to 430C

2. 488 cm3 at 270C to –270C

Combined Gas Law – correct the volumes of the following gases as indicated.

1. 51.7 cm3 at 270C and 90.9 kPa to STP.

2. 14.6 m3 at –120C and 78.6 kPa to 350C and 107 kPa.

3. 67.4 cm3 at 760C and 125.4 kPa to STP.

4. 20.2 cm3 at 420C and 112.0 kPa to 250C and 80.0 kPa.

